## PROBABILITY AND MATHEMATICAL STATISTICS

Vol. 11, Fase. 2 (1991), pp. 237-246

# ON THE CENTRAL LIMIT THEOREM WITH ALMOST SURE CONVERGENCE

# BY

## PETER SCHATTE (FREIBERG)

Abstract. Let  $S_n$  be the partial sums of i.i.d.r.v.'s with zero means and variance one and let a(x) be a real function. In this paper, sufficient conditions are given under which  $a(S_n/\sqrt{n})$  converges almost surely to  $\int_{-\infty}^{\infty} a(x) d\Phi(x)$ . Two variants of convergence are considered: limitation of  $a(S_n/\sqrt{n})$  by logarithmic means and limitation of  $a(S_{nk}/\sqrt{n_k})$  by arithmetic means, where  $n_k = c^{k^{\alpha}}$ ,  $\alpha > 0$ , c > 1. Under the same assumptions in the same sense,  $a(\max_{1 \le m \le n} S_m/\sqrt{n})$  converges almost surely to  $2\int_{0}^{\infty} a(x) d\Phi(x)$ .

1. Introduction and results. Let  $X_1, X_2, \ldots$  be a sequence of independent and identically distributed random variables. Suppose that  $EX_1 = 0$ ,  $EX_1^2 = 1$ , and let  $S_n = X_1 + X_2 + \ldots + X_n$ . Then  $S_n/\sqrt{n}$  converges in distribution to the standard normal distribution  $\Phi(x)$ . In what follows the almost sure convergence of  $S_n/\sqrt{n}$  shall be considered. If the sums  $S_n$  are reduced mod 1 to the interval  $0 \leq S_n < 1$ , then under certain assumptions the relation

(1) 
$$\frac{1}{N}\sum_{n=1}^{N}a(S_n)\to \int_{0}^{1}a(x)\,dx \qquad (N\to\infty)$$

holds almost surely (see [5], [3], [7] and [9]). Unfortunately, because of the normalizing factor  $1/\sqrt{n}$ , an analogous statement fails for the customary sums  $S_n/\sqrt{n}$  (see [6], Theorem 1, and [8], Theorem 1). In order to overcome the strong dependencies among the  $S_n/\sqrt{n}$ , logarithmic means are applied.

**THEOREM 1.** Let a(x) be a real function which is a.e. continuous and for which  $|a(x)| \leq e^{\gamma x^2}$ ,  $\gamma < 1/4$ . Then under the assumption  $E|X_1|^{2+\delta} < \infty$ ,  $\delta > 0$ , we have

(2) 
$$P\left\{\lim_{N \to \infty} \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} a(S_n/\sqrt{n}) = \int_{-\infty}^{\infty} a(x) d\Phi(x)\right\} = 1.$$

P. Schatte

COROLLARY 1. Let  $E|X_1|^{2+\delta} < \infty$ ,  $\delta > 0$ , and  $\varrho > 0$ . Then

(3) 
$$P\left\{\lim_{N\to\infty}\frac{1}{\log N}\sum_{n=1}^{N}n^{-1-\varrho}|S_{n}|^{2\varrho}=\frac{1}{\sqrt{\pi}}2^{\varrho}\Gamma\left(\varrho+\frac{1}{2}\right)\right\}=1,$$

e.g.

(3a) 
$$P\left\{\lim_{N\to\infty}\frac{1}{\log N}\sum_{n=1}^{N}\left(\frac{S_n}{n}\right)^2 = 1\right\} = 1.$$

Another way to remove the strong dependencies among the  $S_n/\sqrt{n}$  consists in the consideration of subsequences  $n_k = c^{k\alpha}$ ,  $\alpha > 0$ , c > 1.

THEOREM 2. Under the assumptions of Theorem 1 we have

(4) 
$$P\left\{\lim_{K\to\infty}\frac{1}{K}\sum_{k=1}^{K}a(S_{n_k}/\sqrt{n_k})=\int_{-\infty}^{\infty}a(x)\,d\Phi(x)\right\}=1.$$

COROLLARY 2. Under the assumptions of Corollary 1 we have

(5) 
$$P\left\{\lim_{K\to\infty}\frac{1}{K}\sum_{k=1}^{K}n_{k}^{-\varrho}|S_{n_{k}}|^{2\varrho}=\frac{1}{\sqrt{\pi}}2^{\varrho}\Gamma\left(\varrho+\frac{1}{2}\right)\right\}=1.$$

Theorems 1 and 2 can be found in [6] and Theorem 1 in [13]-[15] for bounded a(x) only, of course without the corollaries. The proofs given here are straightforward and simpler than in [6]. The corollaries can be compared with Strassen's [12] result

(6) 
$$P\left\{\limsup_{N \to \infty} N^{-1-\varrho} (2\log \log N)^{-\varrho} \sum_{n=1}^{N} |S_n|^{2\varrho} = 2(2\varrho+2)^{\varrho-1} (2\varrho)^{-\varrho} \left(\int_{0}^{1} \frac{dt}{\sqrt{1-t^{2\varrho}}}\right)^{-2\varrho}\right\} = 1,$$

where  $\rho \ge 1/2$  (cf. also [11], p. 296).

For the special case  $a(x) = 1_{(-\infty,u)}(x)$ , where  $1_{(-\infty,u)}(\cdot)$  is the indicator function of the interval  $-\infty < x < u$ , the rate of convergence in (4) is estimated in [8]. Note that

$$F_{n}(u) = \sum_{k=1}^{K} 1_{(-\infty,u)} (S_{n_{k}} / \sqrt{n_{k}})$$

is the empirical distribution function of the weakly dependent random variables  $S_{n_k}/\sqrt{n_k}$ . Further assertions on  $1_{(-\infty,u)}(S_n/\sqrt{n})$  can be found in [10]. In [6] an example is given that shows that Theorems 1 and 2 do not hold in general if a(x) is only measurable.

Under the assumptions concerning  $X_i$ , the sequence  $M_n/\sqrt{n}$ ,

$$M_n = \max_{1 \le m \le n} S_m,$$

converges in distribution to  $2\Phi(x)-1$ . Also for this fact two almost sure variants can be given.

#### Central limit theorem

THEOREM 3. Under the assumptions of Theorem 1 we have

(7) 
$$P\left\{\lim_{N \to \infty} \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} a(M_n/\sqrt{n}) = 2 \int_{0}^{\infty} a(x) d\Phi(x) \right\} = 1$$

and

(8) 
$$P\left\{\lim_{K\to\infty}\frac{1}{K}\sum_{k=1}^{K}a(M_{n_k}/\sqrt{n_k})=2\int_{0}^{\infty}a(x)\,d\Phi(x)\right\}=1.$$

2. Proof of Theorem 1. We shall repeatedly assume that the  $X_n$  are normally distributed. In this case we denote their partial sums  $X_1 + \ldots + X_n$  by  $W_n$ . Then  $W_n/\sqrt{n}$  is also normally distributed. The proof of Theorem 1 is performed in three steps.

**2.1.** Firstly, we assume that  $a(x) = 1_{(-\infty,u)}(x)$  is the indicator function of the interval  $-\infty < x < u$ . We estimate the quantities

$$g_{jn} = \mathbb{E} \left\{ \left( \mathbb{1}_{(-\infty,u)} (W_j / \sqrt{j}) - \Phi(u) \right) \left( \mathbb{1}_{(-\infty,u)} (W_n / \sqrt{n}) - \Phi(u) \right) \right\}$$

for j < n. Then

$$W_n/\sqrt{n} = (W_j/\sqrt{j})\sqrt{j/n} + (W_{j,n}/\sqrt{n-j})\sqrt{(n-j)/n},$$

where  $W_{j,n} = X_{j+1} + \ldots + X_n$  is independent of  $W_j$  and normally distributed. Therefore

$$g_{jn} = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{u} e^{-x^{2}/2} \left\{ \int_{-\infty}^{\sqrt{nu} - \sqrt{jx}/\sqrt{n-j}} e^{-y^{2}/2} dy \right\} dx - \Phi^{2}(u)$$
$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{u} e^{-x^{2}/2} \left\{ \Phi\left(\frac{\sqrt{nu} - \sqrt{jx}}{\sqrt{n-j}}\right) - \Phi(u) \right\} dx.$$

Since  $\sqrt{n}/\sqrt{(n-j)} - 1 \le \sqrt{j}/\sqrt{n-j}$ , we obtain

(9) 
$$|g_{jn}| \leq \frac{1}{2\pi} \sqrt{\frac{j}{n-j}} \int_{-\infty}^{u} (|u|+|x|) e^{-x^2/2} dx \leq C_1 \sqrt{\frac{j}{n-j}}$$

with a constant  $C_1$ . Moreover, we have trivially  $|g_{jn}| \leq 1$ , and it follows that

$$E\left\{\sum_{n=1}^{N} \frac{1}{n} \left(1_{(-\infty,u)}(W_n/\sqrt{n}) - \Phi(u)\right)\right\}^2 \leq 2\sum_{n=1}^{N} \sum_{j=1}^{n} \frac{|g_{jn}|}{jn}$$
$$\leq 2C_1 \sum_{n=1}^{N} \frac{1}{n} \sum_{j=1}^{\lfloor n/2 \rfloor - 1} \sqrt{\frac{1}{j(n-j)}} + 2\sum_{n=1}^{N} \frac{1}{n} \sum_{j=\lfloor n/2 \rfloor}^{n} \frac{1}{j}.$$

If we apply the simple estimate

$$\sqrt{\frac{1}{j(n-j)}} \leqslant \int_{(j-1)/n}^{j/n} \frac{dt}{\sqrt{t(1-t)}},$$

P. Schatte

we arrive at

$$\mathbb{E}\left\{\frac{1}{\log N}\sum_{n=1}^{N}\frac{1}{n}\left(1_{(-\infty,u)}(W_n/\sqrt{n})-\Phi(u)\right)\right\}^2 \leq C_2/\log N.$$

Now we put  $N_k = 2^{k^2}$ . Then, by using standard arguments, we conclude from Chebyshev's inequality and the Borel-Cantelli lemma that

$$\frac{1}{\log N_k} \sum_{n=1}^{N_k} \frac{1}{n} \left( 1_{(-\infty,u)} (W_n / \sqrt{n}) - \Phi(u) \right) \to 0 \qquad (k \to \infty)$$

with probability one. On the other hand,

$$\frac{1}{\log N_k} \sum_{n=N_k+1}^N \ldots \leqslant C_3/k \to 0 \qquad (k \to \infty)$$

for  $N_k < N < N_{k+1}$  and, consequently,

$$\lim_{N \to \infty} \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} (1_{(-\infty,u)} (W_n / \sqrt{n}) - \Phi(u)) = 0 \text{ a.s.}$$

Thus the first step is completed if the  $X_n$  are normally distributed. If not, we approximate and obtain

(10) 
$$S_n - W_n = \varepsilon_n(\omega) n^{1/(2+\delta)},$$

where  $\varepsilon_n(\omega) \to 0$  as  $n \to \infty$  for almost all  $\omega$  (see [2], Theorem 2.6.3, or [4]). But then

$$1_{(-\infty,u)}(S_n/\sqrt{n}) \leq 1_{(-\infty,u+\eta_n)}(W_n/\sqrt{n}),$$

where

$$\eta_n = \sup_{j \ge n} |\varepsilon_j(\omega)| \ j^{-\delta/2(2+\delta)} \to 0 \quad \text{as } n \to \infty.$$

It follows that

$$\frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} \mathbf{1}_{(-\infty,u)} (S_n / \sqrt{n}) \leq \frac{1}{\log N} \left\{ \sum_{n=1}^{M-1} \frac{1}{n} + \sum_{n=M}^{N} \frac{1}{n} \mathbf{1}_{(-\infty,u+\eta_M)} (W_n / \sqrt{n}) \right\}$$
$$\leq (1 + \log M) / \log N + \Phi(u + \eta_M) + \varepsilon/2 \leq \Phi(u) + \varepsilon$$

for sufficiently large N and suitable M = M(N). Correspondingly the left-hand sum can be bounded below, and (2) is also established for  $X_n$  with a general distribution for our special a(x).

**2.2.** Secondly, we consider  $a(x) = e^{\gamma x^2}$ ,  $\gamma < 1/4$ . We remark that  $\operatorname{E}a(W_n/\sqrt{n}) = 1/\sqrt{1-2\gamma}$  and consider

$$h_{jn} = \mathbb{E}\left\{\left(a(W_j/\sqrt{j}) - 1/\sqrt{1-2\gamma}\right)\left(a(W_n/\sqrt{n}) - 1/\sqrt{1-2\gamma}\right)\right\}$$

for j < n. Then

$$\begin{aligned} h_{jn} &= \frac{1}{2\pi} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \exp\left\{\gamma x^{2} + \gamma \left(x \sqrt{j/n} + y \sqrt{(n-j)/n}\right)^{2} - x^{2}/2 - y^{2}/2\right\} dx dy \\ &- 1/(1-2\gamma) \\ &= \frac{1}{2\pi} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \exp\left\{\frac{\gamma}{n} \left(x^{2}j + 2xy \sqrt{j(n-j)} - y^{2}j\right) - 1\right\} \\ &\times \exp\left(\left(\left(\gamma - \frac{1}{2}\right)(x^{2} + y^{2})\right) dx dy, \right) \\ \end{aligned}$$

$$(11) \qquad \qquad |h_{jn}| \leq C_{4} \sqrt{\frac{j}{n-j}}, \end{aligned}$$

since  $|e^a-1| \leq |a|(e^a+1)$  and

(12) 
$$x^{2}j+2xy\sqrt{j(n-j)}-y^{2}j \leq x^{2}n.$$

Thus as in the first step we arrive at

$$\frac{1}{\log N_k} \sum_{n=1}^{N_k} \frac{1}{n} \left( \exp(\gamma W_n^2/n) - 1/\sqrt{1-2\gamma} \right) \to 0 \qquad (k \to \infty)$$

with probability one. On the other hand, by the law of the iterated logarithm, we have

(13) 
$$\exp(\gamma W_n^2/n) \le (\log n)^{\gamma+1/4}$$
 a.s.

for sufficiently large n and, consequently,

$$\frac{1}{\log N_k} \sum_{n=N_k+1}^{N_{k+1}} \frac{1}{n} \left( \exp(\gamma W_n^2/n) - 1/\sqrt{1-2\gamma} \right) = O(k^{2\gamma-1/2}) \to 0.$$

Thus the second step is also completed if the  $X_n$  are normally distributed. In the general case we conclude from (10) and from the law of the iterated logarithm that

$$\begin{split} |\exp(\gamma S_n^2/n) - \exp(\gamma W_n^2/n)| &\leq \frac{2\gamma}{n} |S_n - W_n| \max\left\{ |S_n| \exp(\gamma S_n^2/n), |W_n| \exp(\gamma W_n^2/n) \right\} \\ &\leq 4\gamma |\varepsilon_n(\omega)| \, n^{-\delta/2(2+\delta)} \sqrt{\log\log n \cdot \log n} = O(n^{-\varepsilon}), \end{split}$$

where  $\varepsilon > 0$ . Thus (2) is established again for the special a(x).

**2.3.** Finally, we let a(x) fulfil the assumptions of Theorem 1. We introduce an auxiliary function  $a_1(x)$  which vanishes for |x| > K and is in each of the intervals  $-K+2iK/L \le x < -K+2(i+1)K/L$ , i = 0, 1, ..., L-1, equal to the supremum of  $a(x)-e^{\gamma x^2}$  in these intervals. We put  $a_2(x) = a_1(x)+e^{\gamma x^2}$  and choose first K and then L large enough such that

$$\int_{-\infty}^{\infty} a_2(x) d\Phi(x) \leq \int_{-\infty}^{\infty} a(x) d\Phi(x) + \varepsilon/2.$$

This is possible since a(x) is continuous a.e. and, consequently, Riemann-Stieltjes integrable with respect to  $\Phi(x)$ . Obviously,  $a(x) \leq a_2(x)$  for all real x. On the other hand,  $a_2(x)$  is a finite linear combination of the special functions considered in the first and second steps, respectively. Therefore

$$\frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} a(S_n / \sqrt{n}) \leq \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} a_2(S_n / \sqrt{n})$$
$$\leq \int_{-\infty}^{\infty} a_2(x) d\Phi(x) + \varepsilon/2 \leq \int_{-\infty}^{\infty} a(x) d\Phi(x) + \varepsilon$$

for almost all  $\omega$  and sufficiently large N. Replacing a(x) by -a(x) we obtain the assertion of Theorem 1.

**3. Proof of Theorem 2.** The proof of Theorem 2 is quite analogous to that of Theorem 1.

3.1. We assume that 
$$a(x) = 1_{(-\infty,u)}(x)$$
. From (9) it follows that  

$$E\left\{\sum_{k=1}^{K} \left(1_{(-\infty,u)}(W_{n_k}/\sqrt{n_k}) - \Phi(u)\right)\right\}^2 \leq 2\sum_{k=1}^{K} \sum_{j=1}^{k} |g_{n_j n_k}|$$

$$\leq 2C_1 \sum_{k=1}^{K} \sum_{j=1}^{k-1} \sqrt{\frac{c^{j^{\infty}}}{c^{k^{\infty}} - c^{j^{\infty}}}} + 2C_1^*K.$$

In the case of  $0 < \alpha \leq 1$  we apply the simple estimate

$$\frac{c^{j^{\alpha}}}{c^{k^{\alpha}}-c^{j^{\alpha}}} \leqslant \frac{1}{\alpha \log c} \frac{k^{1-\alpha}}{k-j}$$

and obtain

$$\mathbb{E}\left\{\frac{1}{K}\sum_{k=1}^{K}\left(1_{(-\infty,u)}(W_{nk}/\sqrt{n})-\Phi(u)\right)\right\}^{2}=O(K^{-\alpha}\log K).$$

We put  $K_k = [k^{\beta/\alpha}]$ ,  $\beta = 8/(4\gamma + 3) > 2$ , and arrive at

$$\frac{1}{K_k}\sum_{k=1}^{K_k} \left( 1_{(-\infty,u)} (W_{n_k} / \sqrt{n_k}) - \Phi(u) \right) \to 0 \qquad (k \to \infty)$$

with probability one. In the case of  $\alpha > 1$  we have

$$\frac{c^{j^{\alpha}}}{c^{k^{\alpha}}-c^{j^{\alpha}}} \leq \frac{1}{\alpha \log c(k-j)}$$

and we can reason as in the case  $\alpha = 1$ . Further

242

$$\frac{1}{K_k} \sum_{j=K_k+1}^{K_{k+1}} \dots \leq \frac{C_7}{k} \to 0 \quad (k \to \infty)$$

and, consequently,

$$\lim_{K\to\infty}\frac{1}{K}\sum_{k=1}^{K}\left(1_{(-\infty,u)}(W_{n_k}/\sqrt{n_k})-\Phi(u)\right)=0 \text{ a.s.}$$

The transition from  $W_{n_k}$  to  $S_{n_k}$  can be performed as in the first step of the proof of Theorem 1.

**3.2.** We assume that  $a(x) = e^{yx^2}$ . From (11) it follows that

$$\frac{1}{K_k} \sum_{j=1}^{K_k} \left( a(W_{n_j}/\sqrt{n_j}) - 1/\sqrt{1-2\gamma} \right) \to 0 \qquad (k \to \infty)$$

with probability one. Further by (13) we have

$$\frac{1}{K_k} \sum_{j=K_k+1}^{K_{k+1}} \left( a(W_{n_j}/\sqrt{n_j}) - 1/\sqrt{1-2\gamma} \right) = O(k^{\beta(\gamma+1/4)-1}) \to 0$$

and, consequently,

$$\lim_{K\to\infty}\frac{1}{K}\sum_{k=1}^{K}\left(a(W_{n_k}/\sqrt{n_k})-\Phi(u)\right)=0 \text{ a.s.}$$

The transition from  $W_{n_k}$  to  $S_{n_k}$  can be performed as in the second step of the proof of Theorem 1.

3.3. In the general case there are only minor differences to the third step of the proof of Theorem 1 which can be suppressed here.

4. Proof of Theorem 3. We put

$$V_n = \sup_{0 \le t \le n} W(t),$$

where W(t) is a Wiener process.

4.1. We assume that  $a(x) = 1_{(-\infty,u)}(x)$ , u > 0, and estimate the quantities

$$g_{jn}^* = \mathbb{E}\left\{ \left( \mathbb{1}_{(-\infty,u)} (V_j / \sqrt{j}) - 2\Phi(u) + 1 \right) \left( \mathbb{1}_{(-\infty,u)} (V_n / \sqrt{n}) - 2\Phi(u) + 1 \right) \right\}$$

for j < n. Then

$$V_n = \max\{V_j, W(j) + V_{j,n}\}, \text{ where } V_{j,n} = \sup_{j \le t \le n} \{W(t) - W(j)\}.$$

Now the random vector  $(V_j/\sqrt{j}, W(j)/\sqrt{j})$  is distributed with the density

$$p(x, y) = \begin{cases} \frac{2}{\sqrt{2\pi}} (2x-y) \exp\{-(2x-y)^2/2\} & \text{if } x \ge 0, y \le x, \\ 0 & \text{otherwise} \end{cases}$$

(cf. [1], equality (11.11), p. 79). Hence  $(V_j/\sqrt{j}, W(j)/\sqrt{j}, V_{j,n}/\sqrt{n-j})$  is distributed with the density

$$p(x, y, z) = \begin{cases} \frac{2}{\pi} (2x - y) \exp\{-(2x - y)^2/2 - z^2/2\} & \text{if } x \ge 0, \ y \le x, \ z \ge 0, \\ 0 & \text{otherwise.} \end{cases}$$

But if  $V_j/\sqrt{j} = x$ ,  $W(j)/\sqrt{j} = y$ ,  $V_{j,n}/\sqrt{n-j} = z$ , then  $V_n = \max \{x\sqrt{j}, y\sqrt{j} + z\sqrt{n-j}\},$ 

and therefore

$$g_{jn}^{*} = \int_{x=0}^{u} \int_{y=-\infty}^{x} \int_{z=0}^{(u\sqrt{n}-y\sqrt{j})/\sqrt{n-j}} p(x, y, z) \, dx \, dy \, dz - (2\Phi(u)-1)^{2}$$
$$= 2 \int_{x=0}^{u} \int_{y=-\infty}^{x} \left\{ \Phi\left(\frac{u\sqrt{n}-y\sqrt{j}}{\sqrt{n-j}}\right) - \Phi(u) \right\} p(x, y) \, dx \, dy,$$
$$|g_{jn}^{*}| \leq C_{5} \sqrt{\frac{j}{n-j}}.$$

We obtain

(14)

$$\lim_{N \to \infty} \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} (1_{(-\infty,u)}(V_n/\sqrt{n}) - 2\Phi(u) + 1) = 0 \text{ a.s.}$$

Now we have

$$\max_{\substack{0 \le k \le n \\ 0 \le t \le 1}} \sup_{\substack{|W(k+t) - W(k)| \le 2\sqrt{\log n}}}$$

for sufficiently large *n* (cf., e.g., [2], Theorem 1.2.1); choose  $a_T = 1$ . From this and from (10) we find that

(15) 
$$M_n - V_n = \varepsilon_n^*(\omega) n^{1/(2+\delta)}$$

holds, where  $\varepsilon_n^*(\omega) \to 0$  as  $n \to \infty$  for almost all  $\omega$ . Thus we can finish as in 2.1.

**4.2.** We assume that  $a(x) = e^{\gamma x^2}$  and remark that  $\operatorname{Ea}(V_n/\sqrt{n}) = 1/\sqrt{1-2\gamma}$ . We consider

$$h_{jn}^* = \mathbb{E}\left\{\left(a(V_j/\sqrt{j}) - 1/\sqrt{1-2\gamma}\right)\left(a(V_n/\sqrt{n}) - 1/\sqrt{1-2\gamma}\right)\right\}$$

for j < n. Clearly,

$$V_n = \begin{cases} x\sqrt{j} & \text{if } z \leq z^* = (x-y)\sqrt{j/(n-j)}, \\ y\sqrt{j+z}\sqrt{n-j} & \text{if } z > z^*. \end{cases}$$

244

Thus we get

$$\begin{split} h_{jn}^{*} &= \iiint_{z > z^{*}} \exp\left\{\frac{\gamma}{n} (x^{2}n + y^{2}j + 2yz\sqrt{j(n-j)} + z^{2}(n-j))\right\} p(x, y, z) d\tau \\ &+ \iiint_{z \le z^{*}} \exp\left\{\frac{\gamma}{n} x^{2}(n+j)\right\} p(x, y, z) d\tau - 1/(1-2\gamma) \\ &= \iiint_{z > z^{*}} e^{\gamma(x^{2}+z^{2})} \left\{\exp\left(\frac{\gamma}{n} (y^{2}j + 2yz\sqrt{j(n-j)} - z^{2}j)\right) - 1\right\} p(x, y, z) d\tau \\ &+ \iiint_{z \le z^{*}} e^{\gamma x^{2}} (e^{\gamma x^{2}j/n} - e^{\gamma z^{2}}) p(x, y, z) d\tau, \end{split}$$

where  $d\tau = dx dy dz$ . It follows that

$$|h_{nj}^*| \leq C_6 \sqrt{\frac{j}{n-j}}$$

on account of  $|e^{a}-1| \leq |a|(e^{a}+1)$ , (12), and

$$\int_{0}^{\infty} \int_{-\infty}^{x} \int_{0}^{\infty} (y^{2} + z^{2}) \exp\{\gamma(x^{2} + y^{2} + z^{2})\} p(x, y, z) d\tau < \infty,$$

where the last estimate holds since  $y^2 \leq (2x-y)^2$  in the domain of integration. If the law of the iterated logarithm for  $V_n$  is applied, then we arrive at

$$\lim_{N \to \infty} \frac{1}{\log N} \sum_{n=1}^{N} \frac{1}{n} (\exp(\gamma V_n^2/n) - 1/\sqrt{1-2\gamma}) = 0 \text{ a.s.}$$

In the general case we must apply (15) and the law of the iterated logarithm for the  $M_n$ .

**4.3.** For general a(x) we can conclude as in 2.3. Thus (7) is proved. In order to prove (8) we can proceed as in the proof of Theorem 2 (cf. Section 3).

## REFERENCES

- [1] P. Billingsley, Convergence of Probability Measures, J. Wiley, New York 1968.
- [2] M. Csörgö and P. Révész, Strong Approximations in Probability and Statistics, Akadémiai Kiadó, Budapest 1981.
- [3] P. J. Holewijn, On the uniform distribution of sequences of random variables, Z. Wahrsch. Verw. Gebiete 14 (1969), pp. 89-92.
- [4] J. Komlós, P. Major and G. Tusnády, An approximation of partial sums of independent r.v.'s and the sample DF, ibidem 32 (1975), pp. 111-131; ibidem 34 (1976), pp. 33-58.
- [5] H. Robbins, On the equidistribution of sums of independent random variables, Proc. Amer. Math. Soc. 4 (1953), pp. 786-799.
- [6] P. Schatte, On strong versions of the central limit theorem, Math. Nachr. 137 (1988), pp. 249-256.

7 - PAMS 11.2

# P. Schatte

- [7] On a law of the iterated logarithm for sums mod 1 with application to Benford's law, Probab. Theory Related Fields 77 (1988), pp. 167–178.
- [8] On the almost sure convergence of subsequences in the central limit theorem, Statistics 20 (1989), pp. 593–605.
- [9] On a uniform law of the iterated logarithm for sums mod 1 and Benford's law, Liet. mat. rink. 31 (1991), pp. 205-217.
- [10] On the value distribution of sums of random variables, Teor. Veroyatnost. i Primenen. 33 (1988), pp. 800-804.
- [11] W. F. Stout, Almost Sure Convergence, Academic Press, New York 1974.
- [12] V. Strassen, An invariance principle for the law of the iterated logarithm, Z. Wahrsch. Verw. Gebiete 3 (1964), pp. 211-236.
- [13] G. A. Brosamler, An almost everywhere central limit theorem, Math. Proc. Cambridge Philos. Soc. 104 (1988), pp. 561-574.
- [14] A. Fisher, Convex-invariant means and a pathwise central limit theorem, Adv. in Math. 63 (1987), pp. 213-246.
- [15] M. T. Lacey and W. Philipp, A note on the almost sure central limit theorem, Statist. Probab. Lett. 9 (1990), pp. 201-205.

Bergakademie Freiberg Sektion Mathematik Bernh.-v.-Cotta-Str. 2 D(Ost)-9200 Freiberg, Germany

Received on 19.8.1988